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`61. (B) L – 12, S – 19, 
L
S

19
12

I – 9, T – 20,  
I
T

20
9

62.(B) 5 = 
2 4 3 1

2

  
 = 5, 8 = 

5 4 6 1

2

  

63.(B) Q P O N : M L K J : : X W V U : T S R Q
+4 +4
+4 +4
+4 +4
+4 +4

64.(A) (7)2 – 1 = 48, (12)2 – 1 = 143

65.(B) (7 + 2) × 2 = 18,

(5 + 6) × 2 = 22

66.(D) A B L B C W

1 2 12 2 3 23

67.(D) eqxhZ ge dks vaMk nsrh gSA vkSj isM gedks iQy nsrk gSA
68.(D) vkneh dh vkRedFkk gksrh gS tcfd ns'k dk bfrgkl gksrk

gSA
69.(D) AIO dks NksM+dj vU; lHkh esa O;atu Hkh gSA
70.(A) HkwVku ,d Hkwfe can ns'k gSA
71.(A) fo-ew- = ` 66, gkfu = ` 11, Ø-ew- = ` 77

gkfu % = 
11

77
 × 100 = 14

2

7
%

72.(A)
xy

y x  ?kaVs

73.(D) ekuk dh igyh vkSj nwljh jsy dh yEckbZ Øe'k% 2x eh
vkSj x eh- gSA

iz'ukuqlkj 2
12

5
(48 42)

18

x x


 

  
3

25

x
 = 12

  x = 100 eh-

 igyh dh yEckbZ = 200 eh-

vc

ekuk fd IysViQkeZ dh yEckbZ = y.

iz'ukuqlkj 
200

45

y
= 48 × 

5

18

  y = 400 eh.

74.(A) ;fn xfr =
x

y

rc] lkekU; le; = 
x

x y  × t = 
4

4 3
 × 10

= 40 feuV

75.(C) A dh xfr 
75

25
 = 3 ist@?k.Vk

A + B dh xfr 
135

27
 = 5 ist@?kaVk

B dh xfr (5 – 3) = 2 ist@?kaVs

B }kjk 42 ist fy[kus esa fy;k x;k le;
42

2
= 21 ?kaVs

76.(B) pq + qr + rp = 0

 – qr = pq + rp ...(i)

– pq = qr + rp ...(ii)

– rp = pq + qr ...(iii)

2

2

p

p qr
 + 

2

2

q

q rp
 + 

2

2

r

r pq



2

2

p

p rp pq 
+

2

2

q

q pq qr 
+ 

2

2

r

r qr rp 

p q r

p q r

 

   = 1

77.(B) ekuk fd izfrfnu dh fcØh ` 100

rc]

100 × 
75

100
 × 

130

100
= 97.5

vHkh"V vHkko =100 – 97.5 = 2.5%

78.(B) (4 × 4 – 3 × 5)% jkf'k dk = 80

100% jkf'k dk = 8000

79.(D) ekuk fd dqy nwjh = x

/kjk ds vuqdqy xfr = 5 + 1.5 = 6.5 fdeh/?kaVk
/kjk dh izfrdwy xfr= 5 – 1.5 = 3.5 fdeh/?kaVk
rc

6.5

x
 + 

3.5

x
= 1

 10x = 6.5 × 3.5

 x =
22.75

10
 = 2.275 fd-eh
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80.(B) ekuk dh B }kjk O;olk; esa 'kfey gksus dh le; vof/
=  x eghus
Then,

450 12

300 x




=

2

1

 x =
450 6

300


 = 9 months

B vHkh"V le; (12 – 9) = 3 eghus

91. (C); Change 'their' into 'his'. 'Everybody'
is singular. Hence will take
singular verb.

93. (A); Remove 'have'. Last week denotes
past time. Hence simple past (they
played) is correct.

94. (A); Put 'not only' before 'went'. The
sentence is of misplaced
conjunction.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts,

also share your suggestions and experience of Sunday Mock

91. (C)
92. (D)
93. (A)
94. (B)
95. (B)
96. (B)
97. (B)
98. (A)
99. (B)
100.(D)
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1. (D)
2. (A)
3. (C)
4. (D)
5. (C)
6. (D)
7. (B)
8. (B)
9. (A)
10. (C)

11. (A)
12. (B)
13. (D)
14. (B)
15. (A)
16. (C)
17. (C)
18. (D)
19. (C)
20. (C)

21. (B)
22. (D)
23. (A)
24. (C)
25. (D)
26. (D)
27. (D)
28. (B)
29. (B)
30. (C)

31. (B)
32. (B)
33. (C)
34. (C)
35. (B)
36. (B)
37. (B)
38. (A)
39. (B)
40. (A)

41. (A)
42. (C)
43. (A)
44. (C)
45. (C)
46. (B)
47. (A)
48. (B)
49. (C)
50. (B)

51. (A)
52. (A)
53. (B)
54. (D)
55. (A)
56. (A)
57. (C)
58. (B)
59. (C)
60. (C)

61. (B)
62. (B)
63. (B)
64. (A)
65. (B)
66. (D)
67. (D)
68. (D)
69. (D)
70. (A)

71. (A)
72. (A)
73. (D)
74. (A)
75. (C)
76. (B)
77. (B)
78. (B)
79. (D)
80. (B)

81. (A)
82. (C)
83. (C)
84. (C)
85. (D)
86. (B)
87. (D)
88. (A)
89. (A)
90. (D)


